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1. (15%) M F 74 R EEHE ? FRARE -

(A) (8%) #&# f,g: R>RHE f'(x) = g'(x), Vx € (~00,0) U (0, 00) +
FA— W C 47 () =g(x) +C, Vx € (=0,0) U(0,0) -

B) ("%) B&&$H g : [-1,1] = [-1,1] & — % — (one-to-one) R H
80)=0°ZF gx) £ x=0T#p  NERZIH g7 () £ x=0 T

o o

2. (10%) RAER (limit) :
: . arctanx

lim

x—0 X

£ ¥ arctan : (—,00) > (- E,T) BEWHH tan: (- L, ) > (~00,00) #I K

Tk o . ;

3. (10%) Bt xy+y’ =1 RET—THIZH y=f(x)°

(A) (6%) #1 A “IE4% 4" (Implicit Differentiation) &9 F &K f(x) £ x=0
BHEHE 0 '
(B) (4%) K y=f() &% EH L& 0,1) hinpFAR

4. (10%) 4 C B—ME¥E r 4 « RENBNE C WEBZ AV ZRAD
B4 ?

5 (15%) 3t E FHAREMHES

1
B
- fr‘+4dx'
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8.

#_2 A-H_2 R *HE[LRE]14%

. (10%) XK F 7 dh s S R 8930k (arc length) :

y=x*3, xe[1,8].

(10%) XK T 7)4n4 44 PR (initial-value problem) #4#% :

dy
{ = x*ycosx
¥(0) = 2.

(10%) #R=HEKREM R $H@Ed = (1,0,V3), B = (0,0,1),
T=(234#d=03-11)-
%1

(A) (5%) £ 32D meBHAA -
(B) (5%) £ Zx(2x4d).

(10%) 3t & F 7l —FHad

jfxy2 x2 +y2dA,
Q

AP QAR C:+y’ =38 AH L:x—y=0R y-#h ¥ — L WRAMER
oy & B -



